
 

WPRM-2 

 

Wentylator 
promieniowy 280 

 Temperatura:   20 °C  

 Gęstość czynnika:   1.2 kg/m3  

C
iś

ni
en

ie
 c

ał
ko

w
ite

 
[P

a]
 

 

 Moment bezwładności:  0,24 kg/m2 M
oc

 n
a 

w
al

e 
P

W
 

[k
W

] 

Li
cz

ba
 o

br
ot

ów
 

w
irn

ik
a 

n 
[m

in
-1

] 

P
rę

dk
oś
ć
 

ob
w

od
ow

a 
u 

[m
/s

] 

K
or

ek
cj

a 
K

 [d
B

] 
L W

A
=

L W
–K

 [d
B

(A
)]

 

 

3150 

2800 

2500 

2240 

2000 

1800 

1600 

1400 

 

3150 70 6 

1250 

1120 
3,15 

2800 61,5 7 

1000 

900 
2,5 

2500 55 8 

800 

710 
2,0 

2240 49 9 

630 

560 
1,6 

2000 43,5 10 

500 

450 
1,25 

1800 39 11 

400 

355 
1,0 

1600 34,5 12 

315 

280 
0,8 

1400 31 13 

250 

224 
0,63 

1250 27,5 14 

200 

180 

 

82 

85 

88 

91 

93 

96 

98 

100 

102 

104 

0,65 0,70 0,75 0,80 

0,80 

0,84 

0,75 

0,70 

0,65 

 

0,5 
1120 25,5 15 

        

0,
16

  

0,
2  

0,
25

  

0,
31

  

0,
4   

Moc na wale PW [kW] 
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Szybkość przepływu    c1=c2 
[m/s] 
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Ciśnienie dynamiczne     pd 
[da Pa = kp/m2] 


